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1 3 | LR EIE RETILEFSEER 16.750 | 1 [15.200 | 1 31.950
2 2 | R R RENAT I MG = AR 15.000 | 2 [15.150 | 2 | 30.150
3 3 | F EE R ILARERSEFR 12.300 | 4 [12.850 | 4 | 25.150
4 1 N EE R ILARERSEFR 13.300 | 3 [ 11.550 | 6 | 24.850
o 1 FH #X R ILARERSEFR 10.500 | 8 [13.150 | 3 | 23.650
6 1 A 5n RETILEFSEER 11.625 | 5 [11.900 | 5 | 23.525
1 2 4 R R ILARERSEFR 10.450 | 9 [11.450 | 7 | 21.900
8 3 Z2EFH KX R ILARGERESEFER 11.100 | 7 [10.950 | 9 | 21.650
9 1 fE ] RENAT I RIS = AR 11.450 | 6 | 9.400 | 10| 20.850
10 2 | 58 & REMTILEFSEER 7.500 | 11]10.650 | 8 | 18.150
1 2 | B BR REMTILEFSEER 7.750 | 10| 7.100 | 11| 14.850
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GG =25 B F & i B 7F R
1 3 | £EIF WEIE REBTILETEEFER 16. 750
2 | 2 | MR R R ILAG = EFR 15. 000
3 |1 | EBE RERRF I FHE A S FEER 13. 300
4 | 3 H EE REBRF ILFHE A S FEER 12. 300
5 | 1 | WX & REBTILETEEFER 11.625
6 | 1 | B#E HE AT LG = E R 11. 450
A : 9357
B =5 B F & i B T R
1 3 | LR WEIE REBTILETEEFFER 15. 200
2 | 2 | MR R ARG = EER 15. 150
3 |1 | B& #X RERFILFHE RS FEER 13. 150
4 | 3 #F E&E RERFILFHE RS FEER 12. 850
5 | 1 | WX 5 REBTILETFEEFFER 11.900
6 | 1 | M BE REFFILAHEZRESFRR 11. 550
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